Placement and Transfer of Unaccompanied Children into ORR Care Provider Facilities

OMB Information Collection Request 0970 - 0554

Supporting Statement Part A - Justification

August 2023

Submitted By:
Office of Refugee Resettlement
Administration for Children and Families
U.S. Department of Health and Human Services

Summary

This request is for revisions to one form currently approved under OMB #0970-0554. Details about the changes are described in section A15.

1. Circumstances Making the Collection of Information Necessary

The UC Program provides care and custody for unaccompanied children until they can be safely released to a sponsor, repatriated to their home country, or obtain legal status. ORR funds residential care provider facilities that provide temporary housing and other services to children in ORR custody. Generally, care provider facilities are State licensed (with the exception of those located in states unwilling to license them and temporary emergency facilities) and must meet ORR requirements to ensure a high-level quality of care. Services provided at care provider facilities include, but are not limited to, education, recreation, vocational training, acculturation, nutrition, medical, mental health, legal, and case management.

ORR uses several instruments directly related to the care of unaccompanied children. The instruments in this information collection allow ORR to place unaccompanied children referred to ORR by federal agencies into care provider facilities and to transfer children within the ORR care provider network.

The current request is revisions to the Program Entity (Form P-12).

Legal Authorities

The Homeland Security Act (HSA), 6 U.S.C. 279, transferred responsibilities for the care and placement of unaccompanied children from the Commissioner of the former Immigration and Naturalization Service (INS) to the Director of ORR.

The *Flores v. Reno* Settlement Agreement, No. CV85-4544-RJK (C.D. Cal. 1996), establishes an order of priority for sponsors with whom unaccompanied children should be placed and sets minimum standards for the release, housing, services, transportation, and discharge of unaccompanied children. *Flores* also entitles Plaintiffs' counsel to visit ORR facilities.

The William Wilberforce Trafficking Victims Protection Reauthorization Act of 2008 (TVPRA), 8 U.S.C. 1232, creates additional requirements for the placement, services, and discharger of unaccompanied children in federal custody. The TVPRA also directs ORR to create policies to ensure children are protected from traffickers and others seeking to victimize them or otherwise engage them in criminal, harmful, or exploitative activity.

ORR's Interim Final Rule on the Standards to Prevent, Detect, and Respond to Sexual Abuse and Sexual Harassment Involving Unaccompanied Children, 45 CFR Part 411, sets forth such standards for ORR care provider facilities that house unaccompanied children in accordance with section 1101(c) of the Violence Against Women Reauthorization Act of 2013, Pub. L. 113-4 (VAWA 2013).

2. Purpose and Use of the Information Collection

Placement Authorization (Form P-1): This instrument is used by ORR to authorize a care
provider to provide care and services to unaccompanied children placed in their facility. Care
providers sign the instrument to acknowledge certain responsibilities related to the care of the
children.

- Authorization for Medical, Dental, and Mental Health Care (Form P-2): This instrument is used by ORR to authorize a care provider to provide medical, dental, and mental health care services to unaccompanied children placed in their facility. Care providers sign the instrument to acknowledge certain responsibilities related to the care of the children.
- Notice of Placement in a Restrictive Setting (Form P-4): This instrument is used by care providers to document and inform unaccompanied children of the reason they have been placed in a restrictive setting. This instrument is available in English, Spanish, Dari, and Pashto. See UC Policy Guide Section 1.2.4 Secure and Staff Secure Care Provider Facilities for related policies.
- Foster Care Placement Memo (formerly titled Long Term Foster Care Placement Memo) (Form P-5): This instrument is used by care providers to ensure placement in a foster home that meets the child's needs and continuity of services. See UC Policy Guide Section 1.2.6 ORR Long Term Foster Care for related policies.
- Unaccompanied Child Referral (formerly titled Intakes Placement Checklist and Add New Unaccompanied Child) (Form P-7): This instrument is used by Federal agencies to refer unaccompanied children to ORR custody and by ORR Intakes staff to place children in an ORR care provider facility. It also contains a checklist that is used by ORR Intakes staff to determine whether initial placement in a restrictive setting is appropriate for the child. See UC Policy Guide Section 1.3 Referrals to ORR and Initial Placement for related policies.
- Care Provider Checklist for Transfers to Influx Care Facilities (Form P-8): This
 instrument is used by care providers to ensure that all criteria for transfer of a child to an
 influx care facility have been met. See <u>UC Policy Guide Section 7.2 Placement into Influx
 Care Facilities</u> for related policies.
- Medical Checklist for Non-Influx Transfers (Form P-9A): This instrument is used by
 care providers to ensure that children are medically-cleared for transfer within the ORR care
 provider network, excluding transfer to an influx care facility. See <u>UC Policy Guide Section</u>
 1.4 Transfers within the ORR Care Provider Network for related policies.
- Medical Checklist for Transfers to Influx Care Facilities (Form P-9B): This instrument
 is used by care providers to ensure that children are medically cleared for transfer to an influx
 care facility. See <u>UC Policy Guide Section 7.2 Placement into Influx Care Facilities</u> for
 related policies.
- **Transfer Request (Form P-10A):** This instrument is used by care provider facilities, ORR contractor staff, and ORR Federal staff to process recommendations and decisions for transfer of a child within the ORR care provider network. See UC Policy Guide Section 1.4 Transfers within the ORR Care Provider Network for related policies.
- Placement Confirmation (Form P-10B): This instrument is used by care provider facilities,
 ORR contractor staff, and ORR Federal staff to recommend and approve placement into a
 specific care provider program once a transfer request is approved. See <u>UC Policy Guide</u>
 Section 7.2 Placement into Influx Care Facilities for related policies.
- Transfer Summary and Tracking (formerly titled Transfer Request and Tracking Form) (Form P-11): This instrument is used by care providers to track the physical transfer of the child and their belongings. See <u>UC Policy Guide Section 1.4 Transfers within the ORR Care Provider Network</u> for related policies.

- Bed Configuration Module (Form P-12A): This instrument is used by care providers to create a digital representation of their facility, set rules for beds, and specify the status of beds.
- Bed Assignment and Capacity Overview Module (Form P-12B): This instrument is used by care providers to assign children to beds and track program capacity.
- **Program Entity (formerly titled UC Portal Capacity Report) (Form P-12C):** This instrument is used by care providers and ORR to track certain information related to care provider programs, such as location, contact information, state licensure, grant information, and monitoring.
- Unaccompanied Child Profile (formerly titled Add New Unaccompanied Child) (Form P-13): This instrument is used by referring Federal agencies and care providers to create a profile for an unaccompanied child from which all information related to their case can be accessed.
- ORR Transfer Notice Notice of Transfer to ICE Chief Counsel Change of
 Address/Change of Venue (Form P-14): This instrument is used by care providers to notify
 DHS of the transfer of a child within the ORR care provider network so that DHS may file a
 Motion for Change of Venue and/or Change of Address with the Executive Office for
 Immigration Review to ensure the child's immigration case is transferred to the local
 immigration court, if applicable.
- **Family Group Entity (Form P-15):** This instrument is used by the ORR Intakes Team to associate children who are members of the same family with each other.
- Influx Transfer Manifest (Form P-16): This instrument is used by designated care
 provider staff and ORR staff to plan, track, and notify stakeholders of group transfers to an
 influx care facility. See <u>UC Policy Guide Section 7.2 Placement into Influx Care Facilities</u> for
 related policies.
- Influx Transfer Manual and Prescreen Review (Form P-17): This instrument is used by
 designated care provider staff to evaluate each child's eligibility to be transferred to an influx
 care facility. Care provider staff review and update information on daily during times of
 influx. See <u>UC Policy Guide Section 7.2 Placement into Influx Care Facilities</u> for related
 policies.
- Notice of Administrative Review (Form P-18): This instrument is serves as written notice
 of receipt of a Placement Review Panel request, provides the child with information on next
 steps to take when requesting a review and reconsideration of the child's placement in a
 restrictive setting, and requests information needed by ORR to conduct the placement review
 from the child or their representative. This instrument is available in English, Spanish, Dari,
 and Pashto.

3. Use of Improved Information Technology and Burden Reduction

ORR is in the process of developing a new case management system which will streamline information management by consolidating unaccompanied children information from disparate storage locations, reduce manual paperwork processing conducted outside of the system (e.g., spreadsheets, PDFs, Word documents), maximize the use of auto-population so that information is not entered more than once, enforce business rules through automated workflow management, and improve business intelligence

capabilities by automating reporting and data analytics. All of the instruments in this collection, except the Notice of Administrative Review, will be incorporated into the new system when launched.

4. Efforts to Identify Duplication and Use of Similar Information

The information being collected by these instruments are not obtainable from other sources.

5. Impact on Small Businesses or Other Small Entities

The proposed information collections will not burden or impact small businesses.

6. Consequences of Collecting the Information Less Frequently

Not collecting the information requested in these forms would impede ORR from performing its charged duty of accepting referrals from Federal agencies within 72 hours and placing children in the least restrictive setting. Furthermore, all grantees funded to provide services to these children are required in writing to comply with all of ORR's program policies, procedures, and guidance, which includes collecting the information in these instruments.

7. Special Circumstances Relating to the Guidelines of 5 CFR 1320.5

None of the characteristics outlined in 5 CFR 1320.5(d)(2) apply to the instruments in this collection.

8. Comments in Response to the Federal Register Notice and Efforts to Consult Outside the Agency

In accordance with the Paperwork Reduction Act of 1995 (Pub. L. 104-13) and Office of Management and Budget (OMB) regulations at 5 CFR Part 1320 (60 FR 44978, August 29, 1995), ACF published a notice in the Federal Register announcing the agency's intention to request an OMB review of this information collection activity. This notice was published on October 25, 2022, Volume 87, Number 205, pages 64487-64489, and provided a sixty-day period for public comment. During the notice and comment period, responses were received from one commenter, containing multiple comments. Attachment A provides a summary of those comments and ORR's responses.

ACF published a second notice on December 23, 2022, Volume 87, Number 246, pages 78973-78974, and provided a sixty-day period for public comment for additional proposed revisions. No comments were received.

9. Explanation of Any Payment or Gift to Respondents

No payment or gift to the respondents will be provided.

10. Assurance of Confidentiality Provided to Respondents

ORR established a system of records to ensure the level of confidentiality pursuant to the Privacy Act. 5 U.S.C. 552a. ORR's system of records notice was published on July 18, 2016 at 81 FR 46682.

11. Justification for Sensitive Questions

Sensitive information may be collected in these instruments in order for ORR to make informed placement decisions that ensure all children are placed in the least restrictive setting that meets their individual needs. ORR does not ask for any information of a sensitive nature beyond what is needed to make appropriate placement decisions.

12. Estimates of Annualized Burden Hours and Costs

Estimates used to calculate burden are based on the following factors:

- Number of referrals to ORR custody and transfers within the ORR care provider network in FY2021.
- ORR funds approximately 262 care provider grantees, including approximately 35 long term foster care programs and 15 restrictive placement programs.
- The cost to respondents was calculated using median hourly wage data from May 2021 (accessed
 in September 2022) for the following Bureau of Labor Statistics (BLS) job codes. The rates were
 multiplied by two to account for fringe benefits and overhead.
 - o 21-1021 Child, Family, and School Social Workers $$23.63 \times 2 = 47.26
 - o 23-2011 Paralegals and Legal Assistants $27.03 \times 2 = 54.06$

Information Collection Title	Annual Number of Respondents	Annual Number of Responses per Respondent	Average Burden Hours per Response	Annual Total Burden Hours	Average Hourly Wage	Annual Total Cost
Placement Authorization (Form P-1)	262	536	0.08	11,235	\$47.26	\$530,966.10
Authorization for Medical, Dental, and Mental Health Care (Form P- 2)	262	536	0.08	11,235	\$47.26	\$530,966.10
Notice of Placement in a Restrictive Setting (Form P-4)	15	114	0.33	564	\$47.26	\$26,654.64
Foster Care Placement Memo (Form P- 5)	110	337	0.25	9,268	\$47.26	\$438,005.68
Unaccompanied Child Referral	25	4,909	1.00	122,725	\$47.26	\$5,799,983.50

(Form P-7)						
Care Provider Checklist for Transfers to Influx Care Facilities (Form P-8)	262	19	0.25	1,245	\$47.26	\$58,838.70
Medical Checklist for Transfers (Form P-9A)	262	49	0.08	1,027	\$47.26	\$48,536.02
Medical Checklist for Influx Transfers (Form P-9B)	262	96	0.17	4,276	\$47.26	\$202,083.76
Transfer Request (Form P-10A) — Grantee Case Manager	262	67	0.25	4,389	\$47.26	\$207,424.14
Transfer Request (Form P-10A) — Contractor Case Coordinator	275	67	0.17	3,132	\$47.26	\$148,018.32
Placement Confirmation (Form P-10B) – Grantee Case Manager	262	67	0.17	2,984	\$47.26	\$141,023.84
Placement Confirmation (Form P-10B) – Contractor Case Coordinator	275	67	0.17	3,132	\$47.26	\$148,018.32
Transfer Summary and Tracking (Form P-11)	262	67	0.17	2,984	\$47,26	\$141,023.84
Bed Configuration Module (Form P-12A)	262	12	0.17	534	\$47.26	\$25,236.84
Bed Assignment and Capacity Overview Module (Form P-12B)	262	468	0.17	20,864	\$47.26	\$986,032.64
Program Entity (Form P-12C)	262	12	0.17	534	\$47.26	\$25,236.84
Unaccompanied Child Profile	262	468	0.75	91,962	\$47.26	\$4,346,124.12

(Form P-13)						
ORR Transfer						
Notification -						
ORR						
Notification to						
ICE Chief						
Counsel of						
Transfer of	262	67	0.17	2,984	\$47.26	\$141,023.84
Unaccompanied						
Child and						
Request						
to Change						
Address/Venue						
(Form P-14)						
Family Group	25	100	0.00	2.40	# 4 5 D.C	Ø44 D4D 40
Entity (Form P-	25	120	0.08	240	\$47.26	\$11,342.40
15)						
Influx Transfer	2	10	0.22	10	ф.4 7 . Э.С	фECE 10
Manifest (Form	3	12	0.33	12	\$47.26	\$567.12
P-16) Influx Transfer						
Manual and						
	262	EC 212	0.50	7 262 002	¢47.00	#2.40.010.0FF.70
Prescreen	262	56,213	0.50	7,363,903	\$47.26	\$348,018,055.78
Criteria Review						
(Form P-17) Notice of						
Administrative						
Review (Form	200	1	0.83	166	\$54.06	\$8,973.96
P-18)						
1-10)			Estimated			
			Annual			
			Burden		Estimated	
			Hours	7,659,395	Annual Cost	\$361,984,136.50
			Total:		Total:	

13. Estimates of Other Total Annual Cost Burden to Respondents and Record Keepers

Respondents will not incur any direct monetary costs, other than their time, in the completion of these instruments.

14. Annualized Cost to the Federal Government

The annualized cost estimate for each of these instruments considers the time of a step 1 GS-12 in the Washington, DC locality to review information following submittal. No additional costs will be incurred by the Federal government for developing computer systems or storing the instruments as those systems are already in place. The hourly rate was multiplied by two to account for fringe benefits and overhead.

Information	Annual	Annual	Average	Annual Total	Average	Annual Total
Collection	Number of	Number of	Federal	Federal Staff	Federal Staff	Federal Staff
Title	Respondents	Responses	Staff	Burden	Hourly	Cost

		per Respondent	Burden Hours per Response	Hours	Wage	
Foster Care Placement Memo (Form P- 5)	85	13	0.17	188	\$86.08	\$16,183.04
Unaccompanied Child Referral (Form P-7) – ORR Federal Staff	85	2	0.17	29	\$86.08	\$2,496.32
Unaccompanied Child Referral (Form P-7) – Referring Federal Agency	50	2,455	0.25	30,688	\$86.08	\$2,641,623.04
Care Provider Checklist for Transfers to Influx Care Facilities (Form P-8)	85	57	0.17	824	\$86.08	\$70,929.92
Medical Checklist for Transfers (Form P-9A)	85	150	0.08	1,020	\$86.08	\$87,801.60
Medical Checklist for Influx Transfers (Form P-9B)	85	296	0.08	2,013	\$86.08	\$173,279.04
Transfer Request (Form P-10A)	85	207	0.17	2,991	\$86.08	\$257,465.28
Placement Confirmation (Form P-10B)	85	207	0.17	2,991	\$86.08	\$257,465.28
Transfer Summary and Tracking (Form P-11)	85	207	0.08	1,408	\$86.08	\$121,200.64
Bed Assignment and Capacity Overview Module (Form P-12B)	145	52	0.17	1,282	\$86.08	\$110,354.56
Program Entity (Form P-12C)	35	12	0.33	139	\$86.08	\$11,965.12
Unaccompanied Child Profile (Form P-13)	85	1,444	0.50	61,370	\$86.08	\$5,282,729.60
Unaccompanied	50	2,455	0.17	20,868	\$86.08	\$1,796,317.44

Child Profile (Form P-13)						
ORR Transfer Notification - ORR Notification to ICE Chief Counsel of Transfer of Unaccompanied Child and Request to Change Address/Venue	85	207	0.08	1,408	\$86.08	\$121,200.64
(Form P-14) Influx Transfer Manifest (Form P-16)	85	1	0.25	21	\$86.08	\$1,807.68
Influx Transfer Manual and Prescreen Criteria Review (Form P-17)	85	296	0.25	6,290	\$86.08	\$541,443.20
Notice of Administrative Review (Form P-18)	5	40	0.50	100	\$86.08	\$8,608.00
			Estimated Annual Burden Hours Total:	138,690	Estimated Annual Cost Total:	\$11,938,435.20

15. Explanation for Program Changes or Adjustments

This request is to revise the Program Entity (Form P-12) and includes nonsubstantive changes, as outlined below under "Current Change Request." Revisions that were approved most recently are also outlined.

CURRENT CHANGE REQUEST

Program Entity (Form P-12) now consists of the following three forms:

Bed Configuration Module (Form P-12A)

To create this form, ORR is using the fields from the Program Overview, Bed Capacity, and Beds sections of P-12 Program Entity and enhancing their functionality by capturing additional clarifying information and revising available options to better reflect how bed capacity is actually managed. The form will allow care providers to create and name beds, assign rules to the program and individual beds, specify the status of the bed and further specify why a bed is unavailable (if applicable), and add notes about capacity in finer granularity.

Bed Assignment and Capacity Overview Module (Form P-12B)

ORR is basing this form on the Census tab and the "Bed Count" fields in the Bed Capacity section of P-12 Program Entity. This tool displays a live feed based on data collections from the Bed Configuration Module and UC Portal (feeds data collected in P-13 Add New UC, currently approved under this information collection), providing a single source of truth about a child's bed assignment and a program's bed capacity. The information is shown in a user-friendly dashboard designed specifically for care providers and their day-to-day operations. Combining this information and putting it at the care provider's fingertips as a digital workflow will significantly reduce care provider workload by changing a complex manual process into a process that takes just a few clicks to approve.

Program Entity (formerly titled UC Portal Capacity Report) (Form P-12C)

ORR is moving fields not used in Forms P-12A and P-12B into this form. ORR plans to incorporate these fields into its capacity management tools as part of future development work. In addition, ORR is making the following revisions:

- **Removed the Event and SIR tables** These are auto-populated tables that were meant to list Events and Significant Incident Reports (SIR) created by the care provider. ORR removed them because it was determined that displaying these lists as part of a capacity management tool is not useful.
- Revised dropdown options for "Record Type" and corresponding options for "Document Type" ORR limited options to only those that are relevant to this form.
- Revised dropdown option for "Consistent pattern of UC AWOL" to "Consistent pattern of UC running away" This option appears in the Stop Placement section. ORR determined that "AWOL" is not appropriate terminology for the unaccompanied children population.

RECENTLY APPROVED REVISIONS

Notice of Placement in a Restrictive Setting (Form P-4)

- Replace the abbreviation UC with "unaccompanied child" or "child" throughout the form.
- Under Section C, rephrase instructions to read "Check all reasons that apply for the current placement recommendation only" (instead of "For each type of placement, check all reasons that apply for that placement only").
- Under Section D, remove phrase "specific incidents related to" from "Provide a detailed summary of specific incidents related to the reason(s) for restrictive placement you selected above" to avoid any accidental conflation with Significant Incident Report (SIR) forms.
- Under Section E, clarify that the right to consult an attorney is at no cost to the federal government, as stated in the *Lucas R*. Preliminary Injunction.
- Under Section F, clarify that there is no positive or negative inference from a child's decision not to sign the form.

Foster Care Placement Memo (Form P-5)

- Change the title to "Foster Care Placement Memo" and update the term "long-term foster care" to "foster care" throughout the memo. This term will be inclusive of ORR long-term foster care, transitional foster care, and community-based care programs.
- Increase the number of respondents and number of responses per respondent to include transitional foster care programs (in addition to long-term foster care programs).

- Update instructions on which fields are completed for initial placements and which are completed for transfers within the foster care program.
- Add citation to related policies in the instructions.
- Reword some fields and instructions for clarity.
- Add field to capture the facility name for children placed in an out-of-network foster care program.
- Separate fields that capture contact information for the foster family or group home into separate subsections and expand the fields to capture additional contact information (e.g., phone or email) in addition to name and address.

Transfer Request (Form P-10)

- Remove the two UC Path versions (Transfer Request and Influx Transfer Request) from the information collection.
- Split the UC Portal version into two separate forms: Transfer Request (Form P-10A) and Placement Confirmation (Form P-10B)
- Reorganize existing sections and fields, reword fields, remove unnecessary/redundant fields, and make some minor additions.

16. Plans for Tabulation and Publication and Project Time Schedule

ORR does not plan to publish the information provided by the respondents.

17. Reason(s) Display of OMB Expiration Date is Inappropriate

ORR plans to display the expiration date of clearance as set by OMB.

18. Exceptions to Certification for Paperwork Reduction Act Submissions

No exceptions are necessary for this information collection.